3T oo e Aar T IMRINeT, SIE eI
URfders 3@dar udenm (PET)-2022
RN IR Poll (Master Set)

et
16.10.2022 v Tt

1. &SGRl % SN it el (dehl) oY s wfomn s 3 frg qehleh ol
SEAHTe feham T o |
wiw @t geTg (i)

technique was used for making bronze statue of Dancing Girl during Harappa
Civilisation.
Lost Wax casting

2. TH S AW FRE T F A ITH g AT 7
TR

Gautam Buddha attained enlightenment on the bank of which river ?
Niranjana

3. glar o st o A et o & @ ot o Tt eff i e & wermiaRa g o 7
el
Which of the following was new capital during Harshavardhan’s reign that shifted from

Thanesar ?
Kannauj

4. Trefafea @ @ frm @ aepa “SEmR (Tfeer) IR o 2

ST
Which of the following army’s strength was “Guerilla warfare” ?
Maratha
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5. forfew 3 Frfertea & & forw mor <6t wireelter et 3 sreqa e ot e a7

Jsft
In which of the following languages British showed keenness in introducing in Indian society
?

English

6. 99l TS i Wi FHW aret wouq wrRfaat A g |
B HigH

Write the name of first activist who demanded complete independence (Poorna Swaraj).
Hasrat Mohani

7. TFefafea @ R wReft srider w1 o awE s 2
are wh fersrfr et 6t fioky |

Which of the following is considered as major cause of Swadeshi Movement ?
The decision to divide Bengal.

8. faetd g2 =1 3e™ % warew ith % fiofa 3 9D wer o o
fegatt st saemr 3 wfte arftres wemar o & R |

The main reason behind Mahatma Gandhi’s decision to take up the Khilafat Issue was:
To bring more unity among Hindus and Muslims.

9. WA EHR AHferrm, 1935 3 wraeri # foifew aeerr % 3iftm 3imem w1 weh Ierewor 97 @ o

?
Wit SRRl ot e 3 fore R wiwt

Which was an example of the ultimate authority of the British government in the provisions
of the Government of India Act, 1935 ?

Special powers for governor over provincial governments
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10.

HIEE setteh <l e Freferfad # & frees gro ot s oft ¢
AT <5 99

Forward Bloc was founded by whom among the following ?
Subhas Chandra Bose

11.

aEg < v Fefafga da s d e ¢
Hatdl

Which among the following is the capital of Lakshadweep ?
Kavaratti

12.

wrta ¥ freferRaa o @ fora worm ot e 3t wra 3 qrowm & Smaes 3Tk arm S g @ 7
YR 7T

At which among the following places in India, one can find a wide difference in day and night
temperatures ?
Thar Desert

13.

fora =61 fohem g et &t (ergm i) o fennfora R mn 2 7

Into how many major time zones, is the world divided ?
24

14.

fr=ferfaa o @ @i e uiads w1 o T8 2 72
AT

Which of the following is not a component of population change ?
Morbidity

15.

3G ST 61 A Farse R “geeft 7w 6 Bwg” o w9 o ST S # |
IS 9t o

Name the forest which is known as the “lungs of the planet earth”.
Amazon rain forest
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16.

“Ferean < wr fospra” % siyar @, Fieferfea § @ ) ot deradfa 2o g 6 off ¢
<eft gerafie s
With objective of “Growth with Stability”, which among the following Five Year Plans was

launched ?
4" Five Year Plan

17.

Frerferia 4 @ et st an safml & g 3 w@nfi Tt sream wie § 7
Fsh @

Which among the following consists of business owned by individuals or a group of
individuals ?
Private Sector

18.

freaferRaa # & ford v 1 &fta wHifd & S & s ST ST R 7
LURCR S i

Who among the following is known as the father of green revolution in India ?
M.S. Swaminathan

19.

FrforRea # & fora arftifem 3 St & wfaern 3 o o Puaffa 6 2
<t aft (Iusel w1 it ait gwian) s, 1970

Which among the following Act laid down the conditions for nationalisation of Banks ?
Banking Companies (Acquisition and Transfer of Undertakings) Act, 1970

20.

1991 # 8 anffes fift (w.3.d.) F dga e st Fishemr 6 wea %1yl whom
fFrefResa da s arer ?
Qe

Which among the following was the primary outcome of the liberalisation and privatisation
initiatives under the New Economic Policy (NEP) in 1991 ?
Globalisation

21.

frerfrfaa 3 @ = =t el w6 e Rsivar @i 2 ¢
-l wwar

Which among the following is not a salient feature of Indian Constitution ?
Two-tier Government

MASTER 5 03
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22. el Efeur < forg DPSP (vrswr ifa o Feres Rigia) PR o & fra dfam A e & 2
S
DPSP (Directive Principles of State Policy) for Indian Constitution was inspired by which
among the following Constitutions ?
Ireland
23. R A % s 19 3w a1 AR wie R 7
A IR ATl T w1 TR
Article 19 of the Indian Constitution includes which rights ?
Right to freedom of speech and expression
24, wudR et # sriuTfereRT frass wf seerR A & ¢
frem-vigw
In a parliamentary system, to whom the executive is responsible ?
The legislature
25. I <hl gl Tt s o fopee T 7
o &R
How many tiers are there in the Panchayati Raj System of India ?
Three tiers
26. U BIE TSR ST fehe e % SUeT BT ® 7
746 91
One horse power is equal to approximately how many watts ?
746 watts
27. Frafafea # & o ot ws vaafe sffmm T ¢
Tt =T W19 F W
Which of the following is not a chemical reaction ?
Conversion of water into steam
03 6 MASTER
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28. i A= o Q e an 2 7
L

Pyorrhoea is a disease of which of the following ?
Gums

29. Al Teh Haeh @, 9l FreferRaa § @ frad qrn srar @ 2
et

Phloem is a tissue found in which among the following ?

Plants

30. freferfea 8 & 1 an whrs R A ¥ i Rear ST 2 ¢
TRl Tie

Which among the following acid is used in car battery ?

Sulphurie acid

31, Frefias 3 & o @ R asd wer 2 7

Which of the following fractions is the largest ?
4

8

(6.73) - (4.38)° )
(6.73)%+6.73 x 4.38 + (4.38)>

2.35

32.
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33.

19 %1 fope faera 7.6 R 2
40 i

What percent of 19 is 7.6 ?
40 percent

34.

60 ¥ 80 o sffe Y gt anvirew TEai i alua R

The average of all prime numbers between 60 to 80 is :

70.2

35.

V12.0409 —/1.2544 =
2.35

36.

“HEHTHT” o1 Tit-ferede Fam g ?

G+ "IEE T

37.

o IR W A 37 R

maﬁtwﬁm

38.

‘e H e’ - meret w3l R

TS HS T 8 WM |
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40. A’ 1 o g &

Read the passage carefully and answer the corresponding questions : (41 and 42)

For the past week Elizabeth would come home from work and discover that her apartment smelled
like cigarette smoke. She did not know where the smell was coming from. Elizabeth didn’t smoke.
No one else had the key to her apartment to smoke inside while she was at work. The smell of
smoke especially bothered her because she had asthma. One day Elizabeth stayed home from work
because she was expecting a package. When she woke up that morning, the apartment smelled fine.
At one in the afternoon, Elizabeth went into the kitchen to make a sandwich for lunch. That was
when she noticed the smell of cigarette smoke. She called the building’s superintendent. By the
time he arrived at Elizabeth’s apartment, the whole place smelled like cigarette smoke. The
superintendent told Elizabeth that he was pretty sure the smoke was coming up through the vents
from her new downstair’s neighbour.

The new neighbour was a smoker. The superintendent told Elizabeth that there was nothing to be
done. The building was really old and the vents couldn’t be sealed. It was also perfectly legal for
the downstair’s neighbour to smoke in his apartment. He suggested that Elizabeth should buy an air
filter and see if that would help. Elizabeth bought an air filter but didn’t find it to be enough. Her
asthma was getting worse. Her clothes and furniture were beginning to smell like cigarette smoke
too. Elizabeth decided to go downstairs to talk to the neighbour. She was going to ask him not to
smoke in his apartment. Elizabeth knocked on the door. When he opened the door, a huge wave of
cigarette smoke came out. Elizabeth began coughing violently. The neighbour gave Elizabeth a
disgusted look. “Are you trying to get me sick ?” the neighbour asked her. Elizabeth couldn’t
believe what he was saying. “No, but you are ?” she said.

41. Elizabeth was suffering from
Asthma

42. Elizabeth’s new neighbour lived 2
downstairs

43. Choose the correct synonym : “Exile”
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Banishment

44. Choose the correct antonym : “Mourn”
Joy

45. Give one word substitute for the following :
“one who sells articles at public sales”
Auctioneer

46. QI YAl i UG IR a7 Kt 6 FrerfrRaa § & @i @ s feew g7 gt HeFt % o= day &Y
Tl A euiar g |
Y :
L gforw it = &re & 3 wet & gorg & oo diehd 9g1 el B |
. Y& H SR~ el ) el & swrh o 38 7 |
HYT | HROT § T B [ FHRTIE § |

Read both the statements and decide which of the following answer choice correctly depicts

the relationship between these two statements.

Statements :

I.  Police authority has recently increased vigil during the morning hours in the city.

II.  There has been considerable reduction in the incidents of petty crimes in the city.
Statement I is the cause and statement 11 is its effect.

47. 3 Forees @ a1, “o =afte B WY % geheita wid ot Rrar R |7 it 3 o et 2
AT

Gopi said to Vivek, “That person is the father of the only brother of my mother.” What would
Gopi call him ?
Maternal Grandfather

48. fqwm g / Find the odd one out :

3,.13,17, 23,33, 67
33

49.  6:10 T a6t v F g3 3t firre 6t 72 3 e o1 1o 3@ Al |

Find the angle between the hour hand and the minute hand of a clock at 6:10.

125°
03 10 o
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50.

afe A =l 26 % &9 # hifed o St R, B 1 25 % w9 # whifea frar smar 8, C 1 24 % w9 A
Hifed TS ......... 3R Z 1 1 % &9 sifea fopan simar 8, @ MOBILE & fore @i @i
|

If A is coded as 26, B is coded as 25, C is coded as 24 ......... and Z is coded as 1, then find
the code for MOBILE.
141225181522

51.

T T (8- 1 6 Susiet FoITs o) U 13 yoifa hl @ g s d hi e R 7
o)

A new species of Damsel fly named The Anamalai Reed-tail has been discovered in which state
;

Kerala

52.

Wit IR e fomT o fore <t o6 Treleeti Sadi THg i 31gdc o1 JehR & G fohdll 7T ?

%,
Which country’s All-Party Parliamentary Group on Indian Traditional Sciences conferred the
Ayurveda Ratna award ?

UK

53.

INS TH 3 o TR & T o ST atenrst (fedt 411) R R (il 413) % @
Teh THE AT ASATH T STRISH fhaT |

Y-
INS Tarkash conducted a Maritime Partnership Exercise with Navy ships Almazz (PC

411) and Nimer (PC 413) in the Red Sea.
Sudan

54.

smyfer freferRaa & @ fora & & weiftra e R 2
IYNITHT SATTEHAT

‘Jagriti’ is a mascot related to which among the following fields ?

MASTER 11 03
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NS T

Consumer Awareness
55, WeNg o fera nTee w1 A forfe |
| TR
Write the new name of Aurangabad located in Maharashtra.
Sambhaji Nagar
56. fr=feriaa & & fora ol 3 g, 2022 #, wndt Reenfeal & wesia «t agr & fore wrd
JMeifieh T8 (I0A) o a1 defehiieres grsierdt <t =g 6 ?
fomig s fifis
In July, 2022 which of the following company announced a long-term partnership with Indian
Olympic Association (IOA) to elevate the performances of Indian athletes ?
Reliance Industries Limited
57. e UTER iR+ forw TUa # WG <hi werdt st weifen (att) TR St GRS I 7
EIG |
Tata Power Solar started, India’s largest Floating Solar Power Project in which state ?
Kerala
58. et wew H 21 feewfi vy =g a1 wer 2022 for 2w 3 offe gust gan 2
R IR GYwH T IREht
Between which countries the 21-day joint exercise Vajra Prahar 2022 concluded in Himachal
Pradesh ?
India and United States of America
59. ‘gieh HHANT Ui I LT B:
TN 4 ST AT e Vaen! ht gwenail # g
The objective of the ‘Dak Karmayogi’ portal is :
Enhance the competencies of about 4 lakh Gramin Dak Sevak
03 12 MASTER
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60. TS, 2022 |, Hith! A1E 3 HIh! HEell ht werary ferieh et 1 faenfera s & forg fopees
|1 Teh G S0 R el R & 7
Fn|

In July, 2022, Coffee Board has signed an MoU with whom to develop climate-resistant
varieties of the coffee crops ?
ISRO

61. Tr=forfaa @ & 7 @1 9 TR & 1Y qod et Aty diur aren s g ?
TR

Which among the following countries shares longest international boundary with India ?
Bangladesh

62. Frafafea 1@ = o ssuga i wauri R 2
SegAH

Which among the following is the capital of Israel ?
Jerusalem

63. TefTRaa 5 & 2014 T SR AT WRA 6T 2997 TS HHF AT 8 ?
AT
Which among the following is the 29" state of India created in 2014 ?
Telangana

64. TrafeRaa i frg vsa o fum o @ 2
Hleh

Which of the following states has the Legislative Council ?
Karnataka

65. forw fem ot sl ary & feem & w0 d R ST 2 ¢

MASTER 13 03
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8 gl
Which day is celebrated as Indian Air Force Day ?
8 October

66. TFr=fiRaa # A RR8 Wi w1 w@hicels W el Siar @ 7
£yl

Which among the following is also known as Scotland of India ?
Coorg

67. el 5y o Lffei i yrufes wen @ |
wigh
art is the traditional art of stenciling from Mathura.

Sanjhi

68. dichiier efoRaa @ Rradawmuda@w g 7
Jarer

Volleyball is a national game of which among the following countries ?

Nepal

69. Frafefga @ @ fora safts = wfteg geaes “g It 317 wrd wawnfviey fog g foredt 2 2

TR et
Who among the following persons wrote famous book “The Story of My Experiments with
Truth” ?
Mahatma Gandhi
03 14 MASTER
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70. agaved # fiveey N6 gt & siftreniw scafla ! JEnfia el &, st e
ARHvESH i T L B |
Fratar ferfepor

Greenhouse gases in the atmosphere absorb most of the Earth’s emitted , which heats

the lower atmosphere.

Infrared radiation

FrefaRea sreds i ey Tget 1@ R S (3. 71 ¥ 75) % FR AR |

HTGEh TT o SRIT hl A ST b et H it & Bet W R | 8 TR By i wifen Sl o sure g
Y Y HIGE Yerel ST TR B & | TheT-hictoll A1 UH-Teid H Tiefd @il o aredl % @ & e,
Rette, v, witm, Wi, Srhim 3R T wfta =, e, SHihH, 13 YRS Hideh Hiesk el 3 dar
<l 3T 3T 37T HEH G ST & | T8 I HGeh Wyl 161 7 IueTees HUeht eeh! o] S Sl & 37 i
Al S T S 3 TG Y & TRt 19U a9 S i IR 8l W1 & | Bi-wg gry fea e S e e g
T R | 191 o6 Torq IuRi W g St aeft gt wer, 31 o o1 shwor oft st €, S i wgw 1w oy
FAN § | g T A T W & Tl AN H Sed Ed € | SR AR RN R AR E, qwdiw g
it R ofy e o =y S o 2§ | Rfepeaehia st ot S A i, 3, =, i auT W o
g TGI § STt Ared B STUAT Wk g W ST & Us T a1 GHISRT H 8l S R | 3 U e
o a1t aeref &, Foreht o o it # safth ST ek oS3 B | U ga SeaE, fiee, SHarE,
TSI, T % Wi ATETg 3R e UE Hftes ©9 8 Hus g @ | e Rk w3 w4 aifig
e § of T g3 R |t ot 7 & b Sftem ST & | 91 o e & 98 Jwier Sited e & ugel @ Wid
1 7R 1 ST B | WA o 3 Tsal B g st 3 3 wisficft srgait <t S g 1 @l | o & T8

MASTER 15 03
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Tl ek 2 ST T b & | W ok o Trwal i Tiist o 31 < St el & 3 & 3nfe 1 g
3 I @I R | el 1 W R gl gar i ?

71, 37t st e Rt 3 wreeh vt %y Al od U W R | fau T SR # @ 36 @d F1 S @
o1 3fera A& eTar ?

AGT- el TH~FAT T 8a |

72. WIEH ZEA1 ol oA TS % WIE Jaeh! 3 i €yt s @ fewrs &t R 2
() R 3 e w8 |
(i) TaTEea % ufd ForTT |
(i) AT e @l & |
(iv) =R % i 3mea |
@, (i), (iv)

73. Icsh YUl o1 de HiA aret Jarait o e sfiurd o @au grar @ ?
1. wrlifes e
2. NS 3R gy
3. wa.ITE. . IR gy
P e
g asfi

03 16 MASTER
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74. 3T gfY T HTGH gedl ol Fearl A TTet sl o fog Hardl ATe1 bt Qi 8 2
) o Hi-a

75. NI % 3 T 3 gga ot g Tefieft sreg 3t T ST sIEdr S TET & | $6eh Hie e See R
HATR ?

- s o S RT3 Rp 3 = T R &, TR Sl % 9y Ted & oK e @i
% 1Y I IS-AST & |

frefiRaa arede ! TFgds Tget I8 TR ST (. 76 ¥ 80) % IR AR |

i Py S o T 3 e 3T ferelte Tl ohi g Rt 3 foTe Herd ot T W @ | 3T S
fereier et <h T o 3 o 21 ST el & o 3 e oht g o % for forf) s o € sl
el FRw R, Rl R g o Puffa stva 3 e Yer sig g | SemoT w1 & W el s
SRS e g 8 & e < Tl 3T st Frerfi 3t & R 3T T T €, 98 994 @ 3 AlQ 3
AT 3 S R B et ST e 3 Fore e g wlien & it fop wiersy i sl wafey s wh, 9 Faw
| I STeUhIToTeh el 3 fora & | ek 3T diee HiTthe o6 srera @l ar 371 fereft < o iftre aer ek T
T T S AT 8, S G g & 3T TRl Ten  STEY & et s e @ | fRfoR g s
foprer 1 et b AT 3 T S AT et <6l wa o e fRvarent @ T S it sa < Aot 3 & e |
et i T S e TR Bl e Tl & e N & | TR A S SedhIel g A1 S
Tl % fore Bt & | s v e e e PR 3 gewieel 31t gl T R | sEH aga AT ®
SR SREw BT & | S 3 3Ten! e siga s T & e aft s Aonat § S ohl gl Bl & |
et} anven! wga 8 o T fireren & Rred gerefifa o e 7l 8 ot B | Srefemfors snfliss wei < fer
e e T & | g e 3k P 3 s s R i s s et e e € | e i I
i Y e 3 wr e oft T & | P & 30 o wer s gRehif st W 3T o gig
T § | R e it ww, a1, . 3R Friver 3 e ol § | s, wen, smfedien an e anfe W
139 01 % ot e o 3R ST i STTevEehdr Bt & 3R fes oft Sy e 2, v w9 lies @
o e e v i v T i o e & | e fohe R S Uehen @ 3ere T T 8 SR g sreeh

MASTER 17 03
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QT T S T v o) o Tk @ | 39 el bl ST S o fore wv i feifa e =i | g wen
R = el 1 o A o S ek |

76.

Iede & IUR X warge s RefRad o faw 6 ol o) o fdvard @ 7
() v A defmifern anffe wew gw fre s aed £ |
(i) T sreqraf o gersia Al g R |
(iii) TR grr aftam % et @ sl srest e R |
(iv) Tdw & = Rt oY wvsrrem & ane foees o war 2 |
(i) 3 (iv)

77. TR A e &R B9 % W @l | g9 Inur @ fFeforfiaa # @ i & ferehew wdt € 2
1. w3 Sifen tea Frew fen 2 |
2. 9 ht g s ey areft 2 |
3. REliEEEaR |
4. RElenfEug |
4
78. IR b IMUR R FaTsC 3 defenrefi= srei ot u & forw, o & s d frmforfaa o @ .
1 G 2 7
1. releprefiT weat <t oty oy s gro & v & bt @ |
2. dYeishrelt st <t wfty Srefenrefi s e g & e B wehdt R |
3. dreiepTel @& <hY ST G TEl &, Fifeh deiehTei | (e H & g1 o1 SRaw (WeT) giar
21
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s e <t e § sarer st R, wifes e o sifim wnfier 2 it ife & W@ @l ot

ST |
1,3,4

4,

79. Fr=faRaa o @ sage 6 @ a1 ey Ay &1 gEw Ad 2 ¢
Qe e @ # v vm

80. fr=feifaa o @ wamgy fok i o famed oy 1 3e@w @ 2
A & e @l |

W9 G, 81 @ 85 ; Fm=fifad wrg e (@ 3ei@) w1 3158 St 2011 | 2016 ek B8 991 o 2
deh Y <Y YT H et & Wt B ST The Sien dTet BT hl T e # |

Q.Nos. 81 to 85 : Study the following line graph which gives the number of students who joined
the school and left the school in the beginning of each year during six years, from 2011 to 2016.

P 2010 # wFe At Wl @ = 3000
.§ Initial strength of School in 2010 = 3000
s 700
&% 550 iy O
s g% 300 500 500
% 400 300
00 400
E 300 300 350
4 100
(
E } 2011 2012 2013 2014 2015 2016
o [ Years
e T W AT B TS BT Y O e TR DGR AT BTN Y T
Number of students who joined school Number of students whe left school

81. 2014 % ST Whel T e aTel BT oh T ot

The number of students studying in the school during 2014 was :

3150
MASTER 19 ﬂ P
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82.

fora o 3, Tt ol <) qern W et e arel Bl <6l we # wfdwrd gfe/frree st & ?
In which year, the percentage rise/fall in the number of students who left the school compared to the
previous year is maximum ?

2012

83.

2012 ® 2013 e Thet <ht Tt § e ferem wicrera <t gfg /et g8 ?

The strength of school increased / decreased from 2012 to 2013 by approximately what
percent ?
1.7%

84.

2013 T et UG a1 BE| 6l GE&AT, 2016 T Whet § g 1ol ST o T 61 fera i off
?
The number of students studying in the school in 2013 was what percent of the number of|

students studying in the school in 2016 ?
93.75%

85.

& ¢ araftr o o et oft ad o wope W et g ATt BT it =Han HE H1 Whe Bied art
Bl <l Jrfirehan wEan ¥ AT e R ?

The ratio of the least number of students who joined the school to the maximum number of
students who left school in any of the years during the given period is :
7:10

Y G, 86 & 90 : TT TSI hI LI ohi 3N 37 W 3 et o I ¢ |
Q. Nos. 86 to 90 : Study the bar graph and answer the questions based on it :

Formar =t # waAT g Aege w1 SETeA (@ i)
Production of Mobile by company (in Lakhs) over the years

[ T - -]
:30-."20‘.‘:8

2004 2005 2006 2007
= / Years

FaagA (vr@ #)
Production (in Lakhs)

2001 2002 2003 2008

03
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What was the approximate percentage decline in the production of mobile from 2003 to 2004
‘)

23%

87.

2005 3t 2006 %1 30 e Pefiftad 1 A fra o & gm % e e 3 dtes SR AT ?
2002 311 2007

The average production of 2005 and 2006 was exactly equal to the average production of
which of the following pairs of years ?
2002 and 2007

88.

2001 3 g H 2008 T HiaTget o Ieqre # AT wfowrd gig fper ot 7
What was the approximate percentage increase in production of mobile in 2008 compared to
that in 2001 ?

183.33%

89.

ot ad <l germ A fore o Seaer # witrera gfe aed arftre off ¢
In which year the percentage increase in production as compared to the previous year was the
maximum ?

2002

90.

few e e 9t § WiaTee w1 Seed fow e ant 3 e Iere | At o ?

In how many of the given years was the production of mobiles more than the average
production of the given years ?
4

S . 919 95 : & il e shufat 3t g Rl @ e A shehEl < g § e | arfere §
i v e Fgaa form st gow ud wfeer e o i of e R |

Q. Nos. 91 to 95 : There are five companies and we have been given the number of employees working in
different companies. In the table we have also been given the percentage of male and female employees in
account and research department.
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er@n/ Account e/
A/ vt / Research

Company | Employees | geu/ | wWeend/ | gou/ | wfeeng/
Male | Female | Male | Female

A 450 12 14 9 7

B 700 19 10 11 13

£ 550 28 14 4 7

D 600 31 9 6 4

E 350 12 18 3 7

91. =fe oran fvmT 3 St E 3% 60% sheenial o urd MBA i feaft 8 3R srge fermt & 3¢ ol %
40% =it 3 arg MBA <1 Rt R, At oeft E o e o e MBA i feaft @ 2
If 60% of the employees of company E in account department have MBA degree and 40% of the
employees of the same company in the research department have MBA degree, then how many
employees have MBA degree in company E ?
77

92. o R H et B Y wften smeeREl 6w s sgay form # sut C o6 e weEiEl f
I § T fehe & ?
What is the ratio of the number of female employees of company B in account department to

the number of male employees of company C in research department ?
35:11

93, U A % S wHETiE] Y el G HU E b SITEUH HHHTIE] <l el ST H TN feha
wferrar aiferes & ¢

The total number of account employees of company A is approximately what percent more

than the total number of research employees of company E ?

234.29%
" 22 ﬂ MASTER
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94. St A 3 C At % o v o it et gey =Tl i Sult B 31 D Q1 % IEuH
feurr 3 ehreta spet wfen sdenfet @ s fha 2 2

What is the ratio of the male employees in account department of company A and C together
to the female employees of research department in company B and D together ?
208 : 115

95, ¥t Ul (St D % Siget) o e favm <hY ufern s 6t por e wen it asdh
HufEl (o A 3R E i Sight) § IEEEH 9T & Joy SHHaniEl 6l o e g@n &
off= 1 37 fepa 2 2
What is the difference between the number of female employees of account department in all
companies together (excluding company D) and the male employees of research department

in all companies together (excluding company A and E) ?
138

T . 96/ 100 ; Fre arferest wlisht Y@ aii i % amur 9t giw T= A, B, C, D 31K E i SHE@n
o1 wferera feramor 2t R |1

Q. Nos. 96 to 100 : The following table gives the percentage distribution of population of five states
A, B, C, D and E on the basis of poverty line and also on the basis of sex.
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v/ | TSN et va aigene @t argard /
State | R wwEE Proportion of Males and

e/ Females
Percentage of | nfidi mnafe/ | ndhnasw
Population Below / Above
Below the | pgyerty Line | Poverty Line
Poverty Line
gy/M:wn/F | y/M:a/F
A 30 5:6 6:7
B 20 313 4:5
% 25 22 2.:3
D 20 3:2 4:3
E 15 5:3 3:2

96. afe TsT C % fore e Y@ & S 31 = get <l s 1.5 fufere 2, 9 Usg ¢ il g
SaeE oot 8 2
5 forferam

If the male population above poverty line for state C is 1.5 million, then the total population
of state C is :
5 million

97. TSy D A 7t Y1 @ S 3 arel uftenstt 6 gen =@ e, IR wm sa e s s D&
SaE 7 ffema ? 2
2.4 Tferm

What will be the number of females above the poverty line in the state D, if it is known that
the population of state D is 7 million ?
2.4 million

08, A % R el Y Q S 17 e g ) e et 2 Al e A 3 R e Y
[ FR AN et afgend 1.8 PRvE= § ?
T A IS A
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What will be the approximate male population above poverty line for state A if the
female above poverty line for state A is 1.8 million ?
None of these

99.

Ife Ta B o fore it Y@ @ 2 o el <l sween 2.4 R it osa E % R 6 e 2,
A Al B 3R E <Y e Seiet I A R
If the population of males below poverty line for state B is 2.4 million and that for state E is

6 million, then the total populations of states B and E are in the ratio :
1:2

100.

3fe 115 C <) et s 4 fuferr 2, ot wsw ¢ F et Yan & St 3 aeht nftenstt 6 g
T T ST |
1.8 fferm

If the total population of state C is 4 million, find the total number of females above poverty
line in state C.

1.8 million
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